AP Statistics Ch 2 Group Quiz Answers






1.  A set of 5000 scores on a college readiness exam are known to be approximately normally distributed with a mean of 75 and standard deviation of 6.  To the nearest value, how many scores would you expect to be between 63 and 75?

A)  0.4772

B)  .9772

C)  2386

D)  2500

E)  4886
(Find the z-score for 63 and 75.  Look them up in the table and subtract to get an area of about .4772.  Multiply this number by 5000 scores to get the answer)
2.  In this year’s county math competition, a student scored a 40; in last year’s competition, the student scored a 35.  The average score this year was 38 with a standard deviation of two.  Last year’s average score was 34 with a standard deviation of 1.  In which year did the student score better?

A)  The student scored better on this year’s exam

B)  The student scored better on last year’s exam

C)  The student scored equally well on both exams



D)  Without knowing the number of test items, it is impossible to determine the better score

E)  Without knowing the number of students taking the exam in the county, it is impossible 

      
to determine a better score.

(Both z-scores are 1 therefore they 1 standard deviation above the mean on both tests)
3.  Concert attendance for a stadium is normally distributed with a standard deviation of 7641.  If a concert with 41,293 people in attendance is in the top 2% of all concert attendance records, what is the approximate mean concert attendance?

A)  25601

B)  27917

C)  54670

D)  56986

E)  77163

Look up .98 in the middle of the table (since you are looking for the top 2%, your chart only gives from a point DOWN, so you need to look up 1 - .02 = .98) to get a z = 2.05.  Plug this into your z-score formula: 
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 and solve for the mean.
4.  The area under a standard normal curve corresponding to (-0.2 < z < 2.3) is


a)  0.0107

b)  0.4207

c) 0.5686 

d)  0.5793
  e)  0.9893
5.  Zoologists working for the Safari Park measure the amount of food consumed each day by the mammals.  The daily food consumption is approximately normal with mean 84.07 pounds.  The probability that the daily food consumption is at least 100 pounds is 0.064.  Which of the following is the closest to the probability that on a randomly selected day the daily food consumption will be at least 90 pounds?

A)  0.29

B)  0.31


C)  0.34

D)  0.37

E)  0.50

(You’ll need to find the standard deviation first)
6.  The weights of women are normally distributed.  This week, the z-score of weight for a member of a weight watching group is 1.25.  Which of the following is a correct interpretation of this z-score?

A)  This week the member weighs 1.25 lb. more than last week.


B)  This week the member weighs 1.25 lb. less than last week.


C)  This week the member weighs 1.25 lb. more than the average woman.


D)  The week the member weighs 1.25 standard deviations more than she did last week.


E)   The week the member weighs 1.25 standard deviations more than the average woman.
7.  The height of 4-year old girls is approximately normally distributed.  Willow and Macie are 4-year old girls.  Willow is 32.0 inches tall and is at the 32nd percentile of the distribution.  Macie is 34.0 inches tall and is at the 62nd percentile of the distribution.  Which of the following is closest to the mean of the height distribution?

A) 32.5 inches



B) 32.79 inches


C) 33.00 inches



D)  33.21 inches


E) 36.53 inches

8.  Students in a large AP Statistics class measured the length, in inches, of each of their handspans.  The lengths were later converted into centimeters.  If a student had a standardized score of 
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E)  The standardized score for the student after the conversion cannot be determined

9.  

a)  (2, 1)
b) ¼ 

c) 
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  (Let x denote the median on the x-axis.  You know the area of the triangle below x is 0.50 since it is the median.  Therefore ½ base x height = 
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d) x = 1.  Do the same as above except the area is 0.25

10.  Assuming that batting averages are normally distributed with a mean of .265 and a standard deviation of 0.032, answer the following questions:

a)  What proportion of players bat over .300?  About .137

b)  What proportion of players bat under the Mendoza line? (.200) About .0211

c)  What percent of players bat between .250 and .275? About .2989

d)  What batting average represents the 90th percentile? About .306

e)  What batting average represents the first quartile? About .244
13.  Suppose Professors Kollar and Shinsato have final exam scores that are approximately normally distributed with means of 75.  The standard deviation for Kollar’s class is 5 and for Shinsato’s class is 10.  With which professor is a score of 90 more impressive?  Support your answer.

(It is more impressive in Kollar’s class since a score of a 90 represents achieving 3 standard deviations above the mean which is MORE than Shinsato’s z-score of 1.5.  If you calculated the percentiles, in KB’s class, only about 0.15% of people achieve a score of a 90.  
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